10.

11.

12.

13.

14,

15.

16.

MATH 1314 Free Response

. Solve z — 5 = /10 — 2z

Graph and find the min and max of f(z) = 2z — 622 + 2

-z-1 ifz<1
Graphf(:z:):{ 2r+4 ifz>1

For f(z) = 22 — 3z — 7 find f(-'"+h’2—f(w)

Graph f(z) = -1(x —4)2+9

Find the domain of f(z) =2z + 8

. For f(z) =322 + 4z + 5 and g(z) = 2z — 8 find (f - g)()
. For f(z) =322+ 4z + 5 and g(z) = 2z + 3 find (f o g)(z)

. Find the distance between (-7, —8) and (-3, —5)

Find the midpoint of (—7,—8) and (-3, —5)
Graph 22 + 92 — 82+ 16y + 71 =0
Solve 2z% — 1122 + 10z + 8 =0

z2+6z+8

Find the vertical asymptote of R(z) = 28z 112

422+ 3z +1

Find the horizontal asymptote of R(z) = 1952 —z 11

4z + 8z + 11

Find the slant asymptote of R(z) = —

16V/z + 11)

Expand log, ( @+ 3

M My 2
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17.

18.

19.

20.

21.

22,

23.

24.

25.

26.

27.

28.

29.

>
81

Solve 382 =
Graph f(z) = —2? — 6z — 8

Solve log,(z) + logy(z — 6) =2

Solve logs(z + 2) + logz(z — 4) = logs(16)

0.10\*
4

Solve 6000 = 3000 (1 P

Solve 6000 = 3000¢0-10=

z+y+z=6
Solve the system z+y—2=4
z+y+2=12

4

2(2:1:2 + 6)

z=2
Expand (2z — 5)3

Solve 274 = 1024

Solve log(4 + z) — log(z — 5) = log(4)
Solve —10z2 + 70z + 180 = 0

Solve 2z2 — 11z — 6 =0
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